Maths Homework - Year 3 - 4

Short Division Without Remainders

Complete the calculations below.

1. 3fs 1] | 2. [al7]2] | |3 ef1]7]a |

&. 4 12 |7 |2 5. 8|3 4 4 6. 714 |3 4
7.294 + 6 = 8. 744 + 3 =
9. 1256 < 8 = 10. 1076 = 4 =

11. Grandma Jones had £378 which she shared equally between her 7 grandchildren. How
much money did each grandchild receive?

12. 1134 train passengers are given tickets to sit in 9 different carriages. How many passengers
are in each carriage?




Maths Homework - Year 4

Multiplication and Division Crossnumber

i1

2

Across

1, 37x8=
2, 750+5=
4 32+8-=
5 45x2=
b, 761x 7=
9, 333+9=
10, 64+ 8=
11, 217 x5+
14, 708 x 3 =
16, 333x3 =
17, 49x9 =
20, 72+9=
21, 486 +3 =
23,268+ 4=

Down

1.120+6=

3. 143 x4 =

7.61x5=

8. 919x8=

L612x2=
RN
. 882+3=
. 57x3=
TR

L4124+ 2=



